
Time Allotted- 1 hour� Max marks- 200

Important Instructions:-
	This paper contains 100 questions which are divided into 4 sections and each section contains 25 questions.
	 English Language (Basic Knowledge)
	 General Intelligence
	 Quantitative Aptitude (Basic Arithmetic Skill)
	 General Awareness

	There will be 2 marks for each correct answer and also there will be negative marking of 0.50 marks for each wrong answer.
	Each question is compulsory to attempt and there will be no negative marking for unattempted questions.

English Language

	 1.	 The following sentence has been split into four segments. 
Identify the segment that contains a grammatical error.

	 	 Rahul sings / very sweet / when he is / in a good mood.
1.	 very sweet	 2.	 when he is
3.	 in a good mood	 4.	 Rahul sings

	 2.	 Select the most appropriate option to fill in the blank.
	 	 My grandfather was a farmer and he __________ three acres 

of land.
1.	 cultivated	 2.	 advanced	 3.	 grown	 4.	 cultured

	 3.	 Select the most appropriate meaning of the given idiom.  
Lose your touch
1.	 Doing someone a favour in hopes that the favour will be 

returned
2.	 To be passed from one person to another
3.	 Not being as successful as previously
4.	 Something being very difficult to find

	 4.	 The following sentence has been split into four segments. 
Identify the segment that contains a grammatical error.

	 	 She had resign / from the / post before / he apologised.
1.	 She had resign	 2.	 he apologised
3.	 post before	 4.	 from the

	 5.	 Select the most appropriate synonym of the given word.
	 	 Bafflement

1.	 Confusion	 2.	 Pleasure
3.	 Clarity	 4.	 Cleanliness

	 6.	 Select the most appropriate ANTONYM of the given word.
	 	 Praise

1.	 celebrate	 2.	 Condemn	 3.	 hail	 4.	 Secure
	 7.	 Select the most appropriate option that can substitute the 

underlined segment in the given sentence.
	 	 We want to divide the expenses between the three of us.

1.	 at	 2.	 among	 3.	 from	 4.	 for
	 8.	 Select the most appropriate meaning of the given idiom.
	 	 At one’s elbow

1.	 Next to someone	 2.	 Far away
3.	 Strong grip	 4.	 Strong bond

	 9.	 Select the most appropriate synonym of the given word.
	 	 Confront

1.	 Mingle	 2.	 Conceal	 3.	 Challenge	 4.	 Scheme
	 10.	 The following sentence has been split into four segments. 

Identify the segment that contains a grammatical error.
	 	 After / a long and fun-filled day, / the children / slept 

themselves peacefully.

1.	 a long and fun-filled day
2.	 slept themselves peacefully
3.	 the children
4.	 After

	 11.	 Select the INCORRECTLY spelt word.
1.	 Laxuryous	 2.	 Innocent	 3.	 Zealous	 4.	 Judicial

	 12.	 Select the option that can be used as a one-word substitute for 
the underlined group of words

	 	 Geeta is doubtful about getting hired as she is inexperienced at 
this job.
1.	 Professional	 2.	 Expert	 3.	 Ace	 4.	 Novice

	 13.	 Parts of a sentence are given below in jumbled order. Arrange 
the parts in the correct order to form a meaningful sentence.
a.	 is credited with saying
b.	do not dry your feet
c.	 If you want to leave your footprint on the sands of time,
d.	Dr. APJ Abdul Kalam, former President of India
1.	 d,c,a,b	 2.	 d,a,c,b	 3.	 c,a,b,d	 4.	 a,b,c,d,

	 14.	 Select the INCORRECTLY spelt word.
1.	 Arguement	 2.	 Performance
3.	 Valuable	 4.	 Secretary

	 15.	 Select the most appropriate option to fill in the blank.
	 	 The writer declares that __________ children of their 

childhood is a criminal act.
1.	 robbing	 2.	 robbed	 3.	 rob	 4.	 to rob

	 16.	 Select the most appropriate ANTONYM of the given word.
	 	 Detrimental

1.	 Baseless	 2.	 Harmless
3.	 Senseless	 4.	 Meaningless

	 17.	 Select the most appropriate meaning of the given idiom.
	 	 Blow up

1.	To suffice	 2.	 To live up greatly
3.	 To destroy by an explosion	4.	 To stand upright

	 18.	 Select the most appropriate ANTONYM of the given word.
	 	 Dwarf

1.	 Measurable	 2.	 Medium	 3.	 Tiny	 4.	 Giant
	 19.	 From among the words given in bold, select the 

INCORRECTLY spelt word in the following sentence.
	 	 Small drops trickled down the red and yellow tassels of 

cannopies and dampened the heads of little boys.
1.	 cannopies	 2.	 tassels	 3.	 dampened	 4.	 trickled

	 20.	 In the following passage, some words have been deleted. Read 
the passage carefully and select the most appropriate option to 
fill in each blank.
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	 	 When we believe that our mind is thinking ______ thoughts at 
the same time, what actually is happening is that __________ 
thoughts are __________ in such quick __________ so as to 
seem simultaneous
1.	 homogenous, measurable, unchanging, velocity
2.	 challenging, limited, fixed, interruption
3.	multiple, myriad, alternating, succession
4.	 uniform, countable, altering, ramification

Comprehension:
In the following passage, some words have been deleted. Read the 
passage carefully and select the most appropriate option to fill in 
each blank. Competition is a necessary prospect for (1)__________ 
individuals with particular qualities, but only those who can 
(2)__________ their minds to work, work hard every day, and 
prove themselves will be able to (3)__________ this arduous battle. 
It’s a never-ending race to the finish line, and only those who put 
in the effort and dedication will make it to the end. The outcome 
of any exam does not (4)__________ on the last day, during your 
paper — your success is ensured with every morning that you put 
in work. Students must be aware of the tough environment they are 
entering and prepare (5)__________ in order to improve their chances.
	 21.	 Select the most appropriate option to fill in blank number 1.

1.	 distinguished	 2.	 distinguishes
3.	 distinguishing	 4.	 distinguish

	 22.	 Select the most appropriate option to fill in blank number 2.
1.	 get	 2.	 divert	 3.	 made	 4.	 put

	 23.	 Select the most appropriate option to fill in blank number 3.
1.	 overcome	 2.	 overload
3.	 overpaid	 4.	 overjoyed

	 24.	 Select the most appropriate option to fill in blank number 4.
1.	 awake	 2.	 arise	 3.	 arrive	 4.	 abase

	 25.	 Select the most appropriate option to fill in blank number 5.
1.	 reluctantly	 2.	 consequently
3.	 accordingly	 4.	 exponentially

General Intelligence

	 26.	 Which of the following numbers will replace the question 
mark (?) in the given series?

	 	 15, 27, 12, ?, 9, 33
1.	 29	 2.	 18	 3.	 26	 4.	 30

	 27.	 Which of the following numbers will replace the question 
mark (?) in the given series?

	 	 13,14,23,48,97,178,?
1.	 259	 2.	 278	 3.	 269	 4.	 299

	 28.	 A paper is folded and cut as shown below. How will it appear 
when unfolded?

1.	 	 2.	 	 3.	 	 4.	

	 29.	 Study the given pattern carefully and select the number that 
can replace the question mark (?) in it.

	 	 First row- 3, 43, 4
	 	 Second row- 6, 241, 5
	 	 Third row- 2, ?, 11
	 	 (NOTE: Operations should be performed on the whole 

numbers, without breaking down the numbers into its 
constituent digits. E.g. 13 – Operations on 13 such as adding 
/deleting /multi-plying etc. to 13 can be performed. Breaking 
down 13 into 1 and 3 and then performing mathematical 
operations on 1 and 3 is NOT allowed)
1.	 173	 2.	 192	 3.	 137	 4.	 129

	 30.	 How many triangles are there in the given figure?

1.	 22	 2.	 24	 3.	 20	 4.	 18
	 31.	 Select the option that is related to the third term in the same 

way as the second term is related to the first term and the sixth 
term is related to the fifth term.

	 	 16 : 69 :: 24 : ? :: 31 : 144
1.	 109	 2.	 121	 3.	 116	 4.	 105

	 32.	 Which letter cluster will replace the question mark (?) to 
complete the given series?

	 	 WFBI, UCWB, SZRU, ?
1.	 QWMN	 2.	 QXNN	 3.	 QWNN	 4.	 QXMN

	 33.	 The second number in the given number pairs is obtained 
by performing certain mathematical operation(s) on the first 
number. The same operation(s) are followed in all the number 
pairs except one. Find that odd number pair.
1.	 16:1024	 2.	 14:784	 3.	 18:1620	 4.	 12:576

	 34.	 If A denotes ‘+’, B denotes ‘×’, C denotes ‘−’ and D denotes 
‘÷’, then what will come in place of ‘?’ in the following 
equation?

	 	 (13 B 9) D 3 A (14 D 7) B 6 C 21 A (32 B 2) = ?
1.	 96	 2.	 100	 3.	 112	 4.	 94

	 35.	 Which of the following numbers will replace the question 
mark (?) in the given series?

	 	 19, 38, 35, ?, 135, 810
1.	 146	 2.	 142	 3.	 137	 4.	 140

	 36.	 Select the option that is related to the fifth term in the same 
way as the second term is related to the first term and the 
fourth term is related to the third term.

	 	 NUMBER : UNNYRE :: MOTHER : OMGSRE :: FINGER : ?
1.	 IFDHRE	 2.	 IFGNRE	 3.	 IFMTRE	 4.	 IFTMRE

	 37.	 In a certain code language, ‘ADVISORY’ is written 
as ‘BFYMRMOU’, and ‘CHAMPION’ is written as 
‘DJDQOGLJ’. How will ‘DESIGNER’ be written in that 
language?
1.	 EGVNFLCN	 2.	 EGUMFMCN
3.	 EGVMFLBN	 4.	 EGVNFLBN

	 38.	 Select the option that is related to the fifth number in the same 
way as the second number is related to the first number and the 
fourth number is related to the third number.

	 	 24 : –192 :: –31 : 248 :: –18 : ?
1.	 −152	 2.	 −146	 3.	 148	 4.	 144

	 39.	 Select the correct mirror image of the given combination when 
the mirror is placed at XY as shown.

	
1.	 	 2.	 	 3.	 	 4.	

	 40.	 Which of the following letter-clusters will replace the question 
mark (?) in the given series to make it logically complete?

	 	 WVE, UTG, SRI, QPK, ?
1.	 MON	 2.	 MNO	 3.	 NMO	 4.	 ONM

	 41.	 Select the correct mirror image of the given combination when 
the mirror is placed at MN as shown.

	

1.	 	 2.	 	 3.	 	 4.	
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	 42.	 In a certain code language, ‘KITCHEN’ is written as 
‘LHUBIDO’, and ‘HUSBAND’ is written as ‘ITTABME’. 
How will ‘ELEMENT’ be written in that language?
1.	 FKFLFMU	 2.	 FKFLFNU
3.	 FJFLGNV	 4.	 FKGLFNU

	 43.	 In a certain code language, “FAMOUS” is written as 
“AFOMSU”, and “FINGER” is written as “IFGNRE”. How 
will “INVEST” be written in that language?
1.	 NIVETS	 2.	 NEIVTS	 3.	 NIEVST	 4.	 NIEVTS

	 44.	 Three statements are given, followed by three conclusions 
numbered I, II and III.

	 	 Assuming the statements to be true, even if they seem to be 
at variance with commonly known facts, decide which of the 
conclusions logically follow(s) from the statements.
Statements:

	 	 Some butters are honeys.
	 	 Some honeys are breads.
	 	 All breads are jams.
		  Conclusions:
	 	   I. Some jams are honeys.
	 	  II. All honeys are butters.
	 	 III. Some jams are butters.

1.	 Only conclusions I and II follow
2.	 Only conclusion II follows
3.	 Only conclusions I and III follow
4.	 Only conclusion I follows

	 45.	 If 21st June 2007 was a Thursday, then what was the day of the 
week on 21st June 2011?
1.	 Wednesday	 2.	 Monday	 3.	 Sunday	 4.	 Tuesday

	 46.	 Select the correct mirror image of the given combination when 
the mirror is placed at MN as shown.

	
1.	 	 2.	 	 3.	 	 4.	

	 47.	 Select the option that represents the correct order of the given 
words as they would appear in an English dictionary.
1.	 Adequate	 2.	 Adoption
3.	 Addiction	 4.	 Abduction
5.	 Advertisement
1.	 4,3,1,2,5	 2.	 3,2,4,1,5	 3.	 3,1,4,2,5	 4.	 4,2,1,3,5

	 48.	 Two different positions of the same dice are shown, the six 
faces of which are numbered from 1 to 6. Select the number 
that will be on the face opposite to the one showing ‘3’.

1.	 4	 2.	 1	 3.	 6	 4.	 2
	 49.	 Study the given pattern carefully and select the number that 

can replace the question mark (?) in it.
	 	 First row- 9, 21, 124
	 	 Second row- 11, 25, 148
	 	 Third row- 17, ?, 220
	 	 (NOTE: Operations should be performed on the whole 

numbers, without breaking down the numbers into its 
constituent digits. E.g. 13 – Operations on 13 such as adding 
/deleting /multiplying etc. to 13 can be performed. Breaking 
down 13 into 1 and 3 and then performing mathematical 
operations on 1 and 3 is NOT allowed)
1.	 34	 2.	 30	 3.	 35	 4.	 37

	 50.	 The second number in the given number pairs is obtained 
by performing certain mathematical operation(s) on the first 

number. The same operation(s) are followed in all the number 
pairs, EXCEPT one. Find that odd number pair.
1.	 361 : 332	 2.	 533 : 504
3.	 440 : 411	 4.	 520 : 481

Quantitative Aptitude

	 51.	 The value of (43 + 4) ÷ [52 – (72 – 41)] is :
1.	 8	 2.	 17	 3.	 5	 4.	 4

	 52.	 The fourth proportional to the numbers 5, 6 and 8 is:
1.	 9.8	 2.	 9.6	 3.	 9	 4.	 9.5

	 53.	 To pack a set of books, Gautam got cartons of a certain height 
that were 48 inches long and 27 inches wide. If the volume of 
such a carton was 22.5 cubic feet, what was the height of each 
carton? [Use 1 foot = 12 inches.]
1.	 36 inches	 2.	 32.5 inches
3.	 30 inches	 4.	 32 inches

	 54.	 5 kg of ̀  18 per kg wheat is mixed with 2 kg of another type of 
wheat to get a mixture costing ` 20 per kg. Find the price (per 
kg) of the costlier wheat.
1.	 ` 27	 2.	 ` 25	 3.	 ` 29	 4.	 ` 30

	 55.	 If cot75 2 3° = −  . Find the value of cot 15°.
1.	 2 3− 	 2.	 2 3+ 	 3.	 3 1+ 	 4.	 3 1−

	 56.	 In a government scheme, if an electricity bill is paid before the 
due date, one gets a reduction of 5% on the amount of the bill. By 
paying the bill before the due date, a person got a reduction of ̀  20.  
The amount of his electricity bill was:
1.	 ` 440	 2.	 ` 400	 3.	 ` 520	 4.	 ` 420

	 57.	 A shopkeeper earns a profit of 12% on selling a book at 10% 
discount on the printed price. The ratio of the cost price to the 
printed price is:
1.	 38 : 55	 2.	 45 : 56	 3.	 55 : 38	 4.	 56 : 45

	 58.	 A thief was spotted by a policeman from a distance of 225 
metres. When the policeman started the chase, the thief also 
started running. If the speed of the thief was 11 km/h and that 
of the policeman was 13 km/h, how far would the thief have 
run, before the policeman caught up with him?
1.	 1237.5 metres	 2.	 1137.5 metres
3.	 1357.5 metres	 4.	 1256.5 metres

	 59.	 Which of the following is divisible by 3?
1.	 7345932	 2.	 5439763	 3.	 3642589	 4.	 3262735

	 60.	 At a certain rate of interest compounded annually, a sum 
amounts to ` 10,890 in 2 years and to ` 11,979 in 3 years. The 
sum is:
1.	 ` 9,000	 2.	 ` 8,000	 3.	 ` 8,500	 4.	 ` 9,500

	 61.	 The following graph shows the data of the production of 
electric wire (in thousand tons) by three different comapnies 
P, Q and R over the years.

           

	 	 What is the ratio of the average production of Company P in 
the period 2017-2019 to the average production of Company 
Q in the same period?
1.	 4 : 5	 2.	 25 : 23	 3.	 23 : 25	 4.	 5 : 4

	 62.	 The following pie chart shows the 
different coloured dresses worn by 60 
students in a college party. Study the 
pie chart and answer the question that 
follows.
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	 	 The number of students who wore yellow coloured dress 
(sector which represents 10%) is:
1.	 20	 2.	 10	 3.	 6	 4.	 12

	 63.	 In a class, there are 39 students and their average weight is 51 
kg. If we include the weight of the teacher, then the average 
weight becomes 51.2 kg. What is the weight of the teacher?
1.	 53 kg	 2.	 59 kg	 3.	 57 kg	 4.	 51 kg

	 64.	 A sum of money becomes ̀  3,364 at a rate of 16% compounded 
annually for 2 years.

	 	 The sum of money is:
1.	 ` 2,500	 2.	 ` 1,800	 3.	 ` 3,800	 4.	 ` 2,200

	 65.	 If the surface area of a sphere is 1386 cm2, then find the radius 
of the sphere.
1.	 12.5 cm	 2.	 10.5 cm	 3.	 10 cm	 4.	 12 cm

	 66.	 If the numerator of a fraction be increased by 50% and its 
denominator be diminished by 28%, the value of the fraction 

is 25
36

. Find the original fraction.

1.	
1
5

	 2.	 2
3

	 3.	 2
5

	 4.	 1
3

	 67.	 Simplify (957 + 932)2 – 4 × 957 × 932.
1.	 576	 2.	 676	 3.	 529	 4.	 625

	 68.	 If the surface area of a sphere is 64 π cm2,then the volume of 
the sphere is:

1.	 241
3

3π cm 	 2.	 251
5

3π cm

3.	 226
3

3π cm 	 4.	 256
3

3π cm

	 69.	 On reducing the marked price of his goods by ̀  28, a shopkeeper 
gains 20%. If the cost price of the article be ` 560 and it is sold 
at the marked price, what will be the gain per cent?
1.	 30%	 2.	 25%	 3.	 20%	 4.	 15%

	 70.	 If x
x

+ = −
1

2 3,  , what is the value of x
x

5
5

1
+ ?  

1.	 −178 3 	 2.	 −182 3 	 3.	 182 3 	 4.	 −180 3
	 71.	 Avi and Bindu can complete a project in four and twelve hours, 

respectively. Avi begins project at 5 a.m., and they work alternately 
for one hour each. When will the project be completed?
1.	 9 a.m.	 2.	 11 a.m.	 3.	 1 p.m.	 4.	 10 a.m.

	 72.	 Two circles having radii 12 cm and 8 cm, respectively, touch 
each other externally. A common tangent is drawn to these 
circles which touch the circles at M and N, respectively. What 
is the length (in cm) of MN?
1.	 8 8 	 2.	 8 6 	 3.	 6 8 	 4.	 6 6

	 73.	 If a + 2b = 27 and a3 + 8b3 = 5427, then find the value of 2ab.
1.	 176	 2.	 156	 3.	 172	 4.	 149

	 74.	 The following table gives the sales of an electronic chip over 5 
years. Find the year in which the sales are equal to the average 
of the sales over the 5 years.

Year 2015 2016 2017 2018 2019
Sales
(in thousands  
of rupees)

45 54 57 60 69

1.	 2018	 2.	 2015	 3.	 2017	 4.	 2016
	 75.	 In an election between two candidates, 80% of the eligible 

voters cast their votes, 5% of the votes cast were declared 
invalid. A candidate got 10545 votes, which were 75% of the 
total valid votes. Find the total number of eligible voters.
1.	 17800	 2.	 18500	 3.	 18250	 4.	 18000

General Awareness

	 76.	 In which year was the National Biodiversity Authority, a 
statutory autonomous body, estab-lished under the Ministry of 
Environment and Forests, Government of India?
1.	 2006	 2.	 2000	 3.	 2003	 4.	 2010

	 77.	 Who won the Major Dhyan Chand Khel Ratna Award 2021 in 
Para Shooting discipline?
1.	 Avani Lekhara	 2.	 Manu Bhaker
3.	 Gagan Narang	 4.	 Apurvi Chandela

	 78.	 Who among the following won the Tansen Samman 2020?
1.	 Manju Mehta	 2.	 Dalchan Sharma
3.	Ulhas Kashalkar	 4.	 Satish Vyas

	 79.	 The term ‘checkmate’ is used in which of the following sports?
1.	 Hockey	 2.	 Chess
3.	 Cricket	 4.	 Badminton

	 80.	 Who among the following received the Sahitya Akademi Award 
(Non-fiction) for his book ‘An Era of Darkness’ in 2019?
1.	 Shashi Tharoor	 2.	 Cyrus Mistry
3.	 Jerry Pinto	 4.	 Arun Shourie

	 81.	 Shambhu Maharaj was Awarded the Padma Shri for his 
contribution to which of the following dances in India?
1.	 Kathak	 2.	 Bharatanatyam
3.	 Kuchipudi	 4.	 Manipuri

	 82.	 Which of the following is a game played with racket?
1.	 Baseball	 2.	 Volleyball
3.	 Cricket	 4.	 Squash

	 83.	 On 21st January 2022, three states observed their 50th 
Statehood Day, which of the following is NOT one amongst 
these three?
1.	 Meghalaya	 2.	 Nagaland	 3.	 Tripura	 4.	 Manipur

	 84.	 In optics, the refractive index of a substance is described by 
the formula n = c/v, where c is:
1.	 the speed of light in medium
2.	 the centre of curvature
3.	 the radius of the sphere
4.	 the speed of light in vacuum

	 85.	 Which of the following fields is not offered by Kalidas 
Samman?
1.	 Classical music	 2.	 Classical dance
3.	 Puppetry	 4.	 Plastic arts

	 86.	 Which is the largest continental shelf in the world?
1.	 The shelf of India
2.	 The Indian Ocean shelf
3.	The shelf in the Pacific Ocean
4.	 The Siberian shelf in the Arctic Ocean

	 87.	 For a NBFC- MFI, the maximum variance permitted for 
individual loans between the minimum and maximum interest 
rate____________.
1.	 cannot exceed 4 per cent
2.	 cannot exceed 2 per cent
3.	 cannot be less than 2 per cent
4.	 cannot be less than 4 per cent

	 88.	 Who among the following was the first woman classical 
dancer in independent India to be nominated as a member to 
the Rajya Sabha?
1.	 Vidyagauri Adkar
2.	 Niveditha Arjun
3.	 Rukmini Devi Arundale
4.	 Kalamandalam Kalyanikutty Amma

	 89.	 Which French chemist summarised his experiment in 1806, 
and proved that the mass ratio of elements in a chemical 
compound is always the same, regardless of the source of the 
compound?
1.	 Joseph Proust	 2.	 Robert Boyle
3.	 Jacob Berzelius	 4.	 John Dalton
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	 90.	 Who among the following is credited with single-handedly 
making the Santoor a popular classical instrument?
1.	 Shiv Kumar Sharma	 2.	 Bhajan Sopori
3.	 Rahul Sharma	 4.	 Ulhas Bapat

	 91.	 “The State shall not discriminate against any citizen on 
grounds only of religion, race, caste, sex, place of birth or any 
of them”. This has been incorporated in:
1.	Article 19	 2.	 Article 23	 3.	 Article 15	 4.	 Article 14

	 92.	 EM Subramaniam was an exponent of the ________, a 
musical instrument.
1.	 mandolin	 2.	 guitar	 3.	 ghatam	 4.	 pakhawaj

	 93.	 Pandit Ravi Shankar, a music legend is famous for which of 
the following styles of music?
1.	 Hindustani classical instrumental
2.	 Hindustani classical vocal
3.	 Carnatic classical vocal
4.	 Carnatic classical instrumental

	 94.	 Which of the following is a limestone cave in India?
1.	Undavalli Caves	 2.	 Varaha Cave
3.	 Borra Caves	 4.	 Bhimbetka Caves

	 95.	 Which of the following dancers of Mohiniyattam form of 
Indian classical dance was given the Devadasi National Award 
in 2013?
1.	 Smitha Rajan	 2.	 Jayaprabha Menon
3.	 Sunanda Nair	 4.	 Gopika Verma

	 96.	 Which of the following memoirs was written by Dev Anand, 
the famous classic Indian actor of Hindi films? 
1.	 Romancing with life
2.	 The substance and the shadow
3.	 Autobiography of an actor
4.	 Cracking the Code: My Journey in Bollywood

	 97.	 Find the correct chemical formula of nitromethane.
1.	 CH3NO	 2.	 CH3NO2	 3.	 CH4NO2	 4.	 CH3NO3

	 98.	 Among the following famous personalities, whose 
autobiography is ‘The Road Ahead’?
1.	 Elon Musk	 2.	 Bill Gates
3.	 Jeff Bezos	 4.	 Cristiano Ronaldo

	 99.	 Which of the following is a type of bryophyte that lives in 
many environments and is characterised by its small, flattened 
leaves, root-like rhizoids, and peristome?
1.	 Funaria	 2.	 Ulothrix
3.	 Cladophora	 4.	 Ulva

100.	Which of the following ministries was held by Dharmendra 
Pradhan before he became Cabinet Minister of Education, 
Skill Development and Entrepreneurship in July 2021?
1.	 Ministry of Information and Broadcasting and Sports
2.	 Ministry of Food Processing Industries
3.	Ministry of Housing and Urban Development
4.	 Ministry of Petroleum and Natural Gas and Steel

Answer Key 
1. (1) 2. (1) 3. (3) 4. (1) 5. (1) 6. (2) 7. (2) 8. (1) 9. (3) 10. (2)

11. (1) 12. (4) 13. (2) 14. (1) 15. (1) 16. (2) 17. (3) 18. (4) 19. (1) 20. (3)
21. (3) 22. (4) 23. (1) 24. (3) 25. (3) 26. (4) 27. (4) 28. (2) 29. (4) 30. (3)
31. (1) 32. (1) 33. (3) 34. (4) 35. (4) 36. (3) 37. (3) 38. (4) 39. (1) 40. (4)
41. (1) 42. (1) 43. (4) 44. (4) 45. (4) 46. (1) 47. (1) 48. (2) 49. (4) 50. (4)
51. (4) 52. (2) 53. (3) 54. (2) 55. (2) 56. (2) 57. (2) 58. (1) 59. (1) 60. (1)
61. (3) 62. (3) 63. (2) 64. (1) 65. (2) 66. (4) 67. (4) 68. (4) 69. (2) 70. (1)
71. (2) 72. (2) 73. (1) 74. (3) 75. (2) 76. (3) 77. (1) 78. (4) 79. (2) 80. (1)
81. (1) 82. (4) 83. (2) 84. (4) 85. (3) 86. (4) 87. (1) 88. (3) 89. (1) 90. (1)
91. (3) 92. (3) 93. (1) 94. (3) 95. (2) 96. (1) 97. (2) 98. (2) 99. (1) 100. (4)

Answers with Explanations
	 1.	 Option (1) is correct.
	 Very sweet
	 The grammatical error lies in segment 2.
	 Here, the word ‘sweet’ is an adjective that should modifies a 

noun is modifying a verb. An adverb must modify the verb. 
The verb to be modified is ‘sings.’ So, it must be ‘sweetly.’ 
The adjective ‘sweet’ must be replaced by ‘sweetly.’

	 2.	 Option (1) is correct.
	 Cultivated
	 The sentence is about a grandfather who is a farmer. Options 2, 

3, and 4 will not fit in the context. Farmers normally cultivate 
the land.

	 3.	 Option (3) is correct.
	 Not being as successful as previously
	 The meaning of “lose one’s touch” is to no longer have the 

ability to do things that one was able to do successfully in the 
past. Options 1, 2, and 4 will not be the right answers.

	 4.	 Option (1) is correct.
	 She had resign
	 The error lies in segment one. The verb is supposed to be in 

the past perfect form as the sentence is about two past actions. 
When we speak about two actions that occurred in the past, the 
action that took place first must be indicated by past perfect. 
So, it must be ‘had resigned’.

	 5.	 Option (1) is correct.
	 Confusion
	 The synonym of confusion is bafflement. The synonym 

of pleasure is liking or desire. The synonym of clarity is 
clearness. The synonym of cleanliness is spotlessness.

	 6.	 Option (2) is correct.
	 Condemn
	 The antonym of the word celebrate is disregard. The antonym 

of ‘condemn’ is praise. The antonym of ‘hail’ is ‘criticize’. 
The antonym of secure is unsafe.

	 7.	 Option (2) is correct.
	 Among
	  If there are more than two people or things around, it isn’t 

possible to use between. We use ‘among’ when we speak 
about more than two people. Options 1, 3, and 4 will not fit in 
the context.

	 8.	 Option (1) is correct.
	 Next to someone
	 The meaning of the idiom ‘at an elbow’ is very close to someone. 

Options 2, 3, and 4 do not convey the meaning of the idiom.
	 9.	 Option (3) is correct.
	 Challenge
	 The synonym of the word ‘mingle’ is associate. The synonym 

of the word ‘conceal’ is to hide. The synonym of the word 
‘challenge’ is to confront or to encounter. The synonym of the 
word ‘scheme’ is to outline.
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	 10.	 Option (2) is correct.
	 slept themselves peacefully
	 ‘Themselves’ is a reflexive pronoun. The verb ‘sleep’ does 

not take a reflexive pronoun. Hence, the use of the reflexive 
pronoun ‘themselves’ is incorrect after the verb ‘slept’. So, the 
error lies in segment 4.

	 11.	 Option (1) is correct.
	 Laxuryous
	 The incorrectly spelt word is laxuryous. The correct spelling is 

luxurious. The synonym of the word luxurious is comfortable.
	 12.	 Option (4) is correct.
	 Novice
	 Professional, expert, and ace are used to denote an expert. A 

novice is an inexperienced person.
	 13.	 Option (2) is correct.
	 DACB
	 Sentence D will be the first sentence as it is the introductory 

sentence. Sentence A will be the next sentence because the 
phrase ‘credited with saying’ connects this sentence with the 
first sentence. Sentence C will be the third sentence because it 
speaks about the action, connecting the previous sentence and 
B will be the final sentence.

	 14.	 Option (1) is correct.
	 Arguement
	 The incorrectly spelt word is Arguement. The correct spelling 

is argument. The synonym of the word is disagreement.
	 15.	 Option (1) is correct.
	 Robbing
	 The sentence says that depriving kids of their childhood is 

wrong. In this context, the word that must fit in the blank 
should be a gerund. A gerund is a part of speech that acts as a 
noun but has a verb+ing form.

	 16.	 Option (2) is correct.
	 Harmless
	 The antonym of the word ‘baseless’ is reasonable. The 

antonym of harmless is detrimental or harmful. The antonym 
of senseless is meaningful or rational. The antonym of 
meaningless is meaningful or rational.

	 17.	 Option (3) is correct.
	 To destroy by an explosion
	 The meaning of the idiom ‘blow up’ is to explode or to be 

destroyed in an explosion.
	 18.	 Option (4) is correct.
	 Giant
	 The antonym of measurable is unmeasurable. The antonym of 

medium is extreme. The antonym of tiny is big. The antonym 
of giant is dwarf.

	 19.	 Option (1) is correct.
	 Cannopies
	 The wrongly spelt word is cannopies. The correct spelling is 

canopies. Canopies are sunshades.
	 20.	 Option (3) is correct.
	 multiple, myriad, alternating, succession
	 Here ‘multiple’ should be used in the first blank because 

after that the sentence asserts that the mind is thinking 
some sort of thoughts at the same time. It can be varied or 
multiple thoughts. Because rest of the options (homogenous, 
challenging, and uniform) don’t make sense in the context of 
the given sentence. In the second blank ‘myriad’ should be 
used because it means a very large number of something. In 
the third blank alternating should be used and in the fourth one 
succession should be used.

	 21.	 Option (3) is correct.
	 Distinguishing
	 The meaning of distinguished is eminent. This won’t fit in the 

blank. Options 2 and 4 are incorrect to use in the context as 
they are verbs. The meaning of distinguishing is unique.

	 22.	 Option (4) is correct.
	 Put
	 Options 1, 2, and 3 will not fit in the context.
	 23.	 Option (1) is correct.
	 Overcome
	 The meaning of the word overcome is defeating or conquering 

someone or something. Here, competition is compared to a 
battle and the writer speaks about defeating the fear we have 
towards competition.

	 24.	 Option (3) is correct.
	 Arrive
	 Here, we are talking about examination and the commencing 

of examination. Options 1, 2, and 4 will not fit in the context.
	 25.	 Option (3) is correct.
	 Accordingly
	 When we read the passage, we understand that the passage is 

about competitions and how students tackle them. The best 
word that suits the context is accordingly. Reluctantly means 
unwillingly. Consequently, means as a result. Exponentially 
means more and more rapidly.

	 26.	 Option (4) is correct.
	 Explanation: Given that: 15, 27, 12, ?, 9, 33

	
	 27.	 Option (4) is correct.
	 Explanation: Given that: 13, 14, 23, 48, 97, 178, ?

	
	 28.	 Option (2) is correct.
	 Explanation: 

	
	 The logic of symmetry will be followed here.

	

	 29.	 Option (4) is correct.
	 Explanation: 

	 3,43,4 = (3)3 + (4)2 = 43
	 6,241,5 = (6)3 + (5)2 = 241
	 2,?,11 = (2)3 + (11)2 = 129
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	 30.	 Option (3) is correct.
	 Explanation: 

	          

	 Total 12 triangles 

	 Total triangles here = 4 × 2 = 8
	 Hence, number of triangles are 12 + 8 = 20
	 31.	 Option (1) is correct.
	 Explanation: 
	 Given that: 16 : 69 :: 24 : ? :: 31 : 144
	 16 × 5 – 11 = 69
	 31 × 5 – 11 = 144
	 24 × 5 – 11 = 109
	 32.	 Option (1) is correct.		
	 Explanation: Given that: WFBI, UCWB, SZRU, ?

W F B I

		  	 –2	 	 –3	 	 –5	 	 –7
U C W B

		  	 –2	 	 –3	 	 –5	 	 –7
S Z R U

		  	 –2	 	 –3	 	 –5	 	 –7
Q W M N

	 33.	 Option (3) is correct.
	 Explanation: Logic:
	 16 × 16 × 4 = 1024
	 14 × 14 × 4 = 784
	 18 × 18 × 4 = 1296 ≠ 1620
	 12 × 12 × 4 = 576
	 34.	 Option (4) is correct.
	 Explanation: 
	 Given that:
	 (13 B 9) D 3 A (14 D 7) B 6 C 21 A (32 B 2) = ?
	 After putting signs, we get
	 (13 × 9) ÷ 3 + (14 ÷ 7) × 6 – 21 + (32 × 2)
	 Using BODMAS
	 117 ÷ 3 + 2 × 6 – 21 + 64
	 Þ 39 + 2 × 6 – 21 + 64
	 Þ 39 + 12 – 21 + 64
	 Þ 115 – 21 = 94
	 35.	 Option (4) is correct.
	 Explanation: Given that: 19, 38, 35, ?, 135, 810
	 Logic: 19 × 2 = 38
	 38 – 3 = 35 
	 35 × 4 = 140
	 140 – 5 = 135
	 135 × 6 = 810

	 36.	 Option (3) is correct.
	 Explanation:

	

N U M B E R

Opposites

U N N Y R E

	

M O T H E R

Opposites

O M G S R E

	 Similarly,

	

F I N G E R

Opposites

I F M T R E

	 37.	 Option (3) is correct.
	 Explanation:
	 ‘ADVISORY’ is written as ‘BFYMRMOU’

A D V I S O R Y

		   +1	  +2	  +3	  +4	  –1	  –2	  –3 	  –4

B F Y M R M O U

	 ‘CHAMPION’ is written as ‘DJDQOGLJ’
C H A M P I O N

		   +1	  +2	  +3	  +4	  –1	  –2	  –3 	  –4
D J D Q O G L J

	 Similarly,
D E S I G N E R

		   +1	  +2	  +3	  +4	  –1	  –2	  –3 	  –4
E G V M F L B N

	 38.	 Option (4) is correct.
	 Explanation: Given that: 24 : –192 :: –31 : 248 :: –18 : ?
	 24 × –8 = –192
	 –31 × –8 = 248
	 –18 × –8 = 144
	 39.	 Option (1) is correct.
	 Explanation: 

	 In the mirror image left becomes right and right becomes left.
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	 40.	 Option (4) is correct.
	 Explanation: Given that: WVE, UTG, SRI, QPK, ?

	

W
–2

U
–2

S
–2

Q
–2

O

V
–2

T
–2

R
–2

P
–2

N

E
+2

G
+2

I
+2

K
+2

M

	 41.	 Option (1) is correct.
	 Explanation: 

	 In the mirror image left becomes right and right becomes left.

	
	 42.	 Option (1) is correct.
	 Explanation:

	 ‘KITCHEN’ is written as ‘LHUBIDO’, and

K I T C H E N

		   +1	 –1	  +1	  –1	  +1	  –1	  +1

L H U B I D O

	 ‘HUSBAND’ is written as ‘ITTABME’

H U S B A N D

		   +1	 –1	  +1	  –1	  +1	  –1	  +1

I T T A B M E

	 Similarly, ‘ELEMENT’ can be written as

E L E M E N T

		   +1	 –1	  +1	  –1	  +1	  –1	  +1

F K F L F M U
	 43.	 Option (4) is correct.
	 Explanation: “FAMOUS” is written as “AFOMSU”,

	

F A M O U S

A F O M S U

	 “FINGER” is written as “IFGNRE”

	

F I N G E R

I F G N R E

	 Similarly,
	 “INVEST” can be written as

	

I N V E S T

N I E V T S

	 44.	 Option (4) is correct.
	 Explanation:

	
	 (1)	 From diagram: some jams are honeys.
	 (2)	 From diagram: some honeys are butters but not all 

honeys are butters.
	 (3)	 There is no definite relation between butter and jams.
	 Hence, only conclusion I follows.
	 45.	 Option (4) is correct.
	 Explanation:
	 Let’s count the number of odd days.
	 21st June 2007 to 21st June 2008 = 2
	 21st June 2007 to 21st June 2009 = 1
	 21st June 2009 to 21st June 2010 = 1
	 21st June 2010 to 21st June 2011 = 1
	 Hence, total = 2 + 1 + 1 + 1 = 5
	 Thursday + 5 days = Tuesday
	 46.	 Option (1) is correct.
	 Explanation: 

	 In the mirror image left becomes right and right becomes left.

	
	 47.	 Option (1) is correct.
	 Explanation:

A
bd

uc
tio

n

A
dd

ic
tio

n

A
de

qu
at

e

A
do

pt
io

n

A
dv

er
tis

em
en

t

	 48.	 Option (2) is correct.
	 Explanation: 

	 When two faces of a dice are common, the then the 3rd face is 
opposite each other.

	 Hence, 1 will be opposite to 3.
	 49.	 Option (4) is correct.
	 Explanation: Given that: First row: 9, 21, 124
	 Second row: 11, 25, 148
	 Third row: 17, ?, 220
	 Logic: 	(9 + 21) × 4 + 4 = 124
	 (11 + 25) × 4 + 4 = 148
	 Similarly, 	(17 + x) × 4 + 4 = 220
	 (17 + x) × 4 = 220 – 4
	 (17 + x) × 4 = 216
	 x = 37
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	 50.	 Option (4) is correct.
	 Explanation:
	 361	 –29 	 332
	 533	 –29 	 504
	 440	 –29 	 411
	 520	 –39 	 481
	 51.	 Option (4) is correct.
	 Given expression:

	 (43 + 4) ÷ − −( )



5 7 412 2

	 = (64 + 4) ÷ −[ ] 25 8  = 68 ÷ 17 = 4

	 52.	 Option (2) is correct.
	 Let the fourth proportion is x.
	 According to the question,

	 ⇒ 
5
6

8
=

x
 ⇒ x = 

48
5

9 6= .

	 So, the fourth proportion = 9.6
	 53.	 Option (3) is correct.
	 Given:
	 Length of each carton = 48 inches
	 Width of each carton = 27 inches
	 And volume of carton	 = 22.5 cubic feet
	 	 = 22 5 12 12 1. × × × 2 inches

	 Let the height of each carton = x feet
	 We have, volume of cuboid = l b h× ×

	 ⇒ 48 27× × x = 22.5 × × ×12 12 12

	 ⇒ x = 30
	 So, the height of carton = 30 inches
	 54.	 Option (2) is correct.
	 Let the price of costlier wheat = x/kg.
	 Using mixture formula:

	

	 According to the question,

	 	 x − 20
2

 =	 5
2

	 ⇒	 2x – 40 =	10
	 ⇒	 x =	25
	 \ Price of costlier wheat = ` 25/kg.
	 55.	 Option (2) is correct.

	 Given:	 cot 75° =	 2 3−�

	 So,	 tan 75° =	 1
2 3−�

	 Now,	 cot 15° =	cot (90° – 75°)
	 	 =	 tan75°

	 = 
2 3

2 3 2 3

+( )
−( ) +( )

�

� �
 = 2 3+( )�

	 56.	 Option (2) is correct.
	 Given:
	 The discount percentage before due date = 5%
	 Discounted amount = ` 20
	 Let electricity bill = ` x
	 According to the question,

	 	 x × =
5

100
20

	 ⇒          x  = 400
	 So, the electricity bill = ` 400
	 57.	 Option (2) is correct.
	 Let the marked price = ` x
	 And cost price = ` y
	 According to the question,

	 ⇒ x y×
−

= ×
+100 10

100
100 12

100

	 ⇒         y
x

=
90

112
 ⇒ y

x
=

45
56

	 So, the required ratio = 45 : 56
	 58.	 Option (1) is correct.
	 Given:
	 The distance between thief and policeman
	 	 =	225 m = 0.225 km
	 Speed of the thief = 11 km/h
	 Speed of policeman = 13 km/h

	 We have, Time = Distance
Speed

	 So, time taken to catch the thief = 0 225
13 11

.
−

 = 0 225
2

.  h

	 So, total distance travelled by the thief = 0 225
2

11
.

�×  = 1.2375 km

	 	 =	1237.5 m
	 59.	 Option (1) is correct.
	 Divisibility rule by 3: digit sum should be divisible by 3.
	 Option 1: 7 + 3 + 4 + 5 + 9 + 3 + 2 = 33
	 Option 2: 5 + 4 + 3 + 9 + 7 + 6 + 3 = 37
	 Option 3: 3 + 6 + 4 + 2 + 5 + 8 + 9 = 37
	 Option 4: 3 + 2 + 6 + 2 + 7 + 3 + 5 = 23
	 From above options, only 33 is divisible by 3.
	 60.	 Option (1) is correct.
	 Given: 	Sum of amount in 2 years = ` 10890
	 Sum of amount in 3 years = ` 11979
	 So, the interest earned in between 2nd and 3rd year = 11979 – 

10890 = ` 1089

	 So, rate of interest = 1089
10890

100 10× = %

	 Let the principal amount = ` P

	 We have, total amount A = P 1
100

+







r
n

	 ⇒ 10890 = P 1
10
100

2

+







	 ⇒    P = 10890 × ×
10
11

10
11

 = 9000

	 So, the principal amount = ` 9000
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	 61.	 Option (3) is correct.
	 Average production of company P in the period 2017 – 2019 

= 25 50 40
3

+ + �= 115
3

	 Average production of company Q in the period 2017 – 2019 

= 35 40 50
3

+ +  = 125
3

	 Required ratio = 115
3

125
3

:�  = 23 : 25

	 62.	 Option (3) is correct.
	 Total number of students = 60
	 So, the number of students who wore yellow coloured dress  

= 60
10
100

6× =  students

	 63.	 Option (2) is correct.
	 The average weight of 39 students = 51 kg
	 So, total weight of 39 students = 51 × 36 – 1989
	 Let the weight of teacher = x kg
	 According to the question,
	 	 x + 1989 =	40 × 51.2
	 ⇒	 x =	2048 – 1989
	 ⇒	 x =	59
	 So, the weight of teacher = 59 kg
	 64.	 Option (1) is correct.
	 Given: Total sum of money = ` 3364
	 Rate of interest = 16% per annum
	 Time = 2 years
	 Let the principal amount = ` P

	 We have,	 A =	P 1
100

+







r
n

	 ⇒	 3364 =	P 1
16
100

2

+







	 ⇒	 P =	 3364
25
29

25
29

2500× × =

	 So, the principal amount = ` 2500
	 65.	 Option (2) is correct.
	 Given that the surface area of sphere = 1386 cm2

	 Let the radius of sphere = r cm
	 We have, surface area of sphere = 4πr2

	 ⇒	 1386 =	 4
22
7

2× × r

	 ⇒	 r2 =	110.25
	 ⇒	 r =	10.5
	 So, the radius of sphere = 10.5 cm
	 66.	 Option (4) is correct.
	 Let the numerator of fraction = x
	 And the denominator of fraction = y
	 According to the question,

	 ⇒ x x
y y
+
−

=
0 5

0 28
25
36

.
.

	 ⇒     1 5
0 72

25
36

.
.
x
y

=

	 ⇒        x
y
=

×
×

25 72
150 36

	 ⇒        x
y

=
1
3

	 So, original fraction = 1
3

	 67.	 Option (4) is correct.
	 Value of given expression
	 (957 + 932)2 – 4 957 932× × 	 = (957 – 932)2

	 [using (a + b)2 – 4ab = (a – b)2]
	 	 = 252 = 625
	 68.	 Option (4) is correct.
	 Given that the surface area of sphere = 64p cm2

	 Let the radius of sphere = r cm
	 We have, the surface area of sphere = 4p2 
	 ⇒	 64p =	4p2 

	 ⇒	 r =	4
	 So, the radius of sphere = 4 cm

	 We have, volume of sphere = 
4
3

pr3

	 So, volume of sphere = 
4
3

 p43 = 
256
3

πcm3

	 69.	 Option (2) is correct.
	 Given:
	 The cost price of article = ` 560
	 Gain percentage = 20%
	 Discounted amount = ` 28
	 Let the marked price = ` x
	 According to the question,

	 	 x – 28 =	 560
120
100

×

	 ⇒	 x =	672 + 28 = 700
	 So, the marked price = ` 700
	 Now the new selling price = ` 700

	 So, profit percentage = 700 560
560

100 25
−

× = %

	 70.	 Option (1) is correct.

	 Given: x + 1
x
 = – 2 3 � …(1)

	 squaring both the sides,

	       x2 + 1
2 122x

+ =

	           x2 + 1
102x

= 	�  …(2)

	 cubing both sides of equation (1),

	   x3 + 1
3x

 + 3× × +





 =− x

x
x

x
1 1

24 3�

	 ⇒      x3 + 1
3x

 + 3 − √( ) =− √2 3 24 3�

	 ⇒                 x3 + 1
24 33x

=− √� + 6 3

	 ⇒                x3 + 1
18 33x

=− √� 	 …(3)

	 Multiplying equations (2) and (3),

	   (x2 + 1 1
2

3
3x

x
x

) +





�  = −( ) ×18 3 10

	 ⇒    x5 + x + 1 1
5x x

+  = −180 3

	 ⇒       x5 + −
1

2 35x
 = −180 3

	 ⇒             x5 +
1

5x
 = −178 3
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	 71.	 Option (2) is correct.
	 Given:
	 Time taken by Avi to complete the project = 4 h
	 Time taken by Bindu to complete the project = 12 h
	 Let the project = LCM (4, 12) = 12 unit

	 Work done by Avi per hour = 12
4

=�3 unit/h

	 Work done by Bindu per hour = 12
12

=�1 unit/h

	 Work done by both of them in 2 hours = 3 + 1 = 4 unit
	 So, time taken by them to complete the project working 

alternately = 12
4

2 6× = �h

	 So, exact time when project will finish = 5:00 am + 6h = 11:00 am
	 72.	 Option (2) is correct.

	
	 Given:
	 Radius of 1st circle r1 = 12 cm
	 Radius of 2nd circle r2 = 8 cm
	 So, distance between O1 and O2 = 12 + 8 = 20 cm

	 We have, MN = 20 12 82 2
− −( )( )

	 ⇒MN = 400 16−( )

	 ⇒ MN = 384( )  = 8 6  cm

	 73.	 Option (1) is correct.
	 Given:
	 	 a3 + 8b3 =	5427
	 and	 a + 2b =	27
	 cubing both the sides,
	 	 (a + 2b)3 =	273
	 ⇒ a3 + 8b3 + 3× × +( ) =a b a b2 2 19683

	 ⇒ 5427 + 3× × ( ) =a b2 27 19683

	 ⇒ 3× ( ) = −2 27 19683 5427ab

	 ⇒ 3× ( ) =2 27 14256ab

	 ⇒ 2
14256

81
ab =

	 ⇒ 2 176ab =
	 74.	 Option (3) is correct.
	 Average of the sales over the years

	 	 =	
45 54 57 60 69

5
57

+ + + +
=

	 So, average sales is equal to sales in the year of 2017.
	 75.	 Option (2) is correct.
	 Let total number of eligible voters = x
	 According to the question,

	     x × × × =
80

100
95

100
75

100
10545

	 ⇒                 x = 
10545 1000000

80 95 75
18500

×
× ×

=

	 So, total number of eligible voters = 18500
	 76.	 Option (3) is correct.
	 In 2003, the National Biodiversity Authority, a statutory 

autonomous body was established under the Ministry 
of Environment and Forests, Government of India. It 
was established to implement the provisions under the 
Biological Diversity Act, 2002. It is headquartered in 
Chennai, Tamil Nadu. It performs facilitative, regulatory 
and advisory function for the Government of India on issues 
of conservation, sustainable use of biological resources and 
fair and equitable sharing of benefits arising out of the use of 
biological resources.

	 The current Union Minister of Environment and Forests is 
Bhupender Yadav.

	 77.	 Option (1) is correct.
	 Avani Lekhara won the Major Dhyan Chand Khel Ratna 

Award 2021 in Para Shooting discipline. Avani Lekharais an 
Indian Sportswoman and rifle shooter. Major Dhyan Chand 
Khel Ratna Award is also known as Khel Ratna award. It 
is the highest sporting honour awarded annually by the 
Ministry of Youth Affairs and Sports, Government of India. 
It was formally known as Rajiv Gandhi Khel Ratna award. 
This is given for excellent performance on International level 
competitions. Chess Grandmaster Vishwanathan Anand was 
the first recipient of this award. Abhinav Bindra was the 
youngest to receive this award at the age of 18 years.

	 Gagan Narang is an Indian sports shooter.
	 Apurvi Chandela is an Indian shooting player.
	 Manu Bhaker is an Indian Olympian competing at Air-Gun 

shooting.
	 78.	 Option (4) is correct.
	 Satish Vyas won the Tansen Samman 2020. He is a santoor 

player who has been honoured with Padma Shri. The Tansen 
Samman is conferred to musicians of Hindustani music. It is 
presented during the Tansen Samaroh at Gwalior, Madhya 
Pradesh. It was given for the first time in the year 1980. 
Tansen was a Hindustani Classical Musician and is commonly 
referred as Sangeet Samrat. He was a vocalist, composer, and 
musician. He was one of the nine Navaratnas (the nine jewels) 
in Akbar’s court.

	 Ulhas Kashalkar is a Hindustani classical vocalist and has 
received training in the Gwalior, Jaipur and Agra gharanas.

	 Manju Mehta is an Indian classical sitar player.
	 79.	 Option (2) is correct.
	 The term ‘checkmate’ is used in Chess. Checkmate is a position 

in the game of chess in which the player’s king’s position is 
under threat and there is no possible escape. The king can 
be under threat directly or indirectly. When a situation like 
checkmate arises, the game ends and the opponent win.

	 80.	 Option (1) is correct.
	 Shashi Tharoor received the Sahitya Akademi Award (Non-

fiction) for his book ‘An Era of Darkness’ in 2019. It is the 
second highest literary honour of the country. The award is 
presented for 24 languages that include 22 languages of the 
eighth schedule of the Indian constitution along with English 
and Rajasthani. In the year 1960, the first winner of this award 
was RK Narayanan for his book, The Guide. Shashi Tharoor 
is a politician, author, and former international civil servant. 
He is a Member of Parliament from Thiruvananthapuram, 
Kerala.
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	 Cyrus Mistry was an India born Irish business tycoon who 
was the chairman of Tata group from 2012-16. He passed 
away in a car accident in the year 2022.

	 Jerry Pinto is an Indian journalist, writer, poet, short story 
teller, and journalist. Some of his works include- Em and the 
Big Hoom, Helen: The Life and Times of an H-Bomb. He has 
been honoured with Sahitya Akademi award for the same.

	 Arun Shourie is an Indian politician, journalist, economist, 
and author. He is a Padma Bhushan and Ramon Magsaysay 
Awardee.

	 81.	 Option (1) is correct.
	 Shambhu Maharaj was awarded the Padma Shri for his 

contribution to Kathak. He was guru from Lucknow Gharana. 
He was honoured with the Sangeet Natak Akademi Fellowship 
in 1967 and the Padmashri in 1958. Kathak is the classical 
dance of Uttar Pradesh and is one of the eight major forms of 
Indian classical dance.

	 Bharatnatyam is one of the eight major Indian classical dances 
and has its origin in Tamil Nadu. It expresses South Indian 
religious themes and spiritual ideas especially related to 
Shaivisim in Hinduism.

	 Kuchipudi is one of the eight major Indian classical dances 
and originates from Kuchipudi village in Andhra Pradesh. The 
roots of this dance form are in Natya Shastra. It is believed 
that Tirtha Narayana Yati and his disciple Siddhendra Yogi 
founded the systemised and modern version of Kuchipudi in 
the 17th century.

	 Manipuri Dance is also referred to as Manipuri Raas Leela 
and is one of the eight major forms of Indian classical dance.

	 82.	 Option (4) is correct.
	 Squash is a racket and ball sport. It can be played by two or 

four players in a court. A small hollow rubber ball is used. In 
this, alternately players strike the ball with their rackets onto 
the playable surface of the four walls. Basically, the aim is to 
not allow the opponent to play a valid return. The sport is not 
a part of the Olympics. The governing body of squash is the 
World Squash Federation (WSF).

	 Baseball is a bat and ball sport played between two teams 
having nine members. Each of the team takes turns in batting 
and fielding. The aim is to score more runs to beat the other 
team.

	 Volleyball is a team sport in which there are two teams that 
are separated by a net on the either side. Each team has six 
players. Players use their hands to bat a ball back and forth 
over the high net. Each time they try that the ball touches 
opponents’ playing area before it is returned.

	 Cricket is a bat and ball game played on the field. There are 
two teams involved and each team has 11 members and one of 
the sides is bowling and the other side is batting.

	 83.	 Option (2) is correct.
	 On 21st January 2022, Meghalaya, Tripura, and Manipur 

celebrated their 50th Statehood Day. On this day, these three 
states had attained full statehood under the North Eastern 
Region (Re-organisation) Act, 1971.

	 Manipur and Tripura were accorded the status of Union 
Territories in the year 1949. The political map of Northeast 
India underwent a major change in the year 1972. The two 
Union Territories of Manipur and Tripura and the Sub-State of 
Meghalaya got statehood.

	 Nagaland celebrates its Statehood Day on 1 December. It also 
marks the beginning of Hornbill festival in Nagaland. It was 
recognised as a separate state under State of Nagaland Act, 
1962 on 1st December, 1963.

	 84.	 Option (4) is correct.
	 In optics, the refractive index of a substance is described by 

the formula n = c/v, where c is the speed of light in vacuum. 
n is the refractive index. The value of c is 3 × 108 m/s, v is the 
velocity of light in a substance.

	 Refractive index is defined as ratio of speed of light in vacuum 
to the speed of light in a given medium. The refractive index 
changes from moving from one medium to the other because 
of the different properties of different materials. In simple 
words, refractive index helps us to understand the degree of 
bending of light in different mediums. Air has refractive index 
of 1.0003 and water has the refractive index of 1.333.

	 85.	 Option (3) is correct.
	 Puppetry is not offered by Kalidasa Samman. Kalidasa 

Samman is an annual art award presented by the Government 
of Madhya Pradesh. It is named after Kalidasa. He is 
considered as a renowned ancient Sanskrit writer in India. His 
work is primarily based on Puranas, Mahabharata, Ramayana, 
and Vedas. It was awarded for the first time in the year 1980. 
Initially, the award was given in four categories-Plastic arts, 
theatre, classical dance, and classical music. However, later 
on the award is presented for outstanding achievement in one 
of the four fields. The award consists of a citation and a cash 
amount of ` 2,00,000.

	 86.	 Option (4) is correct.
	 The Siberian shelf in the Arctic Ocean is the largest continental 

shelf in the world. The Siberian shelf is 1500 km in width and 
is 10m in depth. It extends from the continent of Eurasia into 
the Arctic Ocean. A continental shelf is the edge of continent 
lying below the ocean. It is a submerged landmass and is also 
known as the submerged coastland. This piece of land is well 
suited for conducting fishing, extraction of mineral oil, natural 
gas and its average other minerals. It is the shallowest past of 
the ocean.

	 87.	 Option (1) is correct.
	 For an NBFC- MFI, the maximum variance permitted for 

individual loans between the minimum and maximum interest 
rate cannot exceed 4 per cent.

	 NBFC stands for Non-Banking Financial Company. These 
are companies that do not have a banking license but 
provide services similar to a bank. These are registered 
under Companies Act 2013. They are regulated within the 
framework of RBI act 1934.

	 MFI stands for Micro Finance Institutions. These offer 
their services to low income populations and provide them 
microloans, micro savings and micro insurance. The micro 
loans fall below ` 1 lakh.

	 88.	 Option (3) is correct.
	 Rukmini Devi Arundale was the first woman classical dancer 

in independent India to be nominated as a member to the Rajya 
Sabha. She was given the Prani Mitra Award in 1968. She was 
a Bharatnatyam dancer and the first woman in Indian history 
to be nominated as the member of Rajya Sabha. Bharatnatyam 
is one of the eight major Indian classical dances and has its 
origin in Tamil Nadu. It expresses South Indian religious 
themes and spiritual ideas especially related to Shaivisim in 
Hinduism.

	 Vidyagauri Adkar is a Kathak dancer belonging to the Jaipur 
gharana.

	 Niveditha Arjun is an Indian dancer, producer, and actress.
	 Kalamandalam Kalyanikutty Amma was an Indian Classical 

Dancer of Mohiniyattam dance form. She is also the author of 
the book ‘Mohiniyattam - History and Dance Structure.’
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	 89.	 Option (1) is correct.
	 Joseph Proust summarised his experiment in 1806, and proved 

that the mass ratio of elements in a chemical compound is 
always the same, regardless of the source of the compound. 
This is also known as Law of Constant or Definite Proportion. 
This law forms the basis of stoichiometry. Stoichiometry is the 
relationship between the quantities of products and reactants 
before, during, and following chemical reactions.

	 Robert Boyle was a physicist, chemist, alchemist and inventor. 
He is regarded as the first modern day chemist. He is known 
for Boyle’s law. The law states that there is an inversely 
proportional relationship between the absolute pressure and 
volume of a gas, if the temperature is kept constant within a 
closed system.

	 Jacob Berzelius is regarded as one of the founders of modern 
chemistry along with Robert Boyle, John Dalton, and Antoine 
Lavoisier. He is known as the ‘Father of Swedish Chemistry.’

	 John Dalton was an English chemist, physicist, and 
meteorologist. He is known to introduce atomic theory in 
chemistry. The disease of color blindness is named after him 
and is also known as Daltonism.

	 90.	 Option (1) is correct.
	 Shiv Kumar Sharma is credited with single-handedly making 

the Santoor a popular classical instrument. He was an Indian 
classical musician and Santoor player. He was a Padma 
awardee and was honoured with the Padma Shri and Padma 
Bhushan.

	 Bhajan Sopori was a Santoor player and an Indian 
instrumentalist.

	 Rahul Sharma is an Indian classical Santoor player and music 
director.

	 Ulhas Bapat was a santoor player from India.
	 Santoor has its origin in Shaivite Parampara (tradition) 

of Kashmir and belongs to the family of earliest stringed 
instruments known as Veena. It is a trapezium shaped box 
particularly made of seasoned mulberry wood with an acute 
angle of 75 degrees each from the left and the right.

	 91.	 Option (3) is correct.
	 “The State shall not discriminate against any citizen on 

grounds only of religion, race, caste, sex, place of birth or any 
of them”. This has been incorporated in Article 15.

	 Article 23 deals with Prohibition of traffic in human beings 
and forced labour. Article 24 prohibits employment of children 
in factories, etc.

	 Article 19 guarantees the right to freedom of speech and 
expression. It provides for Freedom of speech and expression, 
Freedom to assemble, Freedom to form associations/unions/
cooperative societies, Freedom to move freely, Freedom of 
residence, and Freedom of profession.

	 Article 14 contains a guarantee of equality before law to all 
persons and protection to them against discrimination by 
law. According to article 14, the state shall not deny to any 
person equality before the law or the equal protection of the 
laws within the territory of India, on grounds of religion, race, 
caste, sex or place of birth.

	 92.	 Option (3) is correct.
	 EM Subramaniam was an exponent of the ghatam, a musical 

instrument. Ghatam is a large, narrow-mouthed earthenware 
pot used as a percussion instrument. Basically, it is a clay 
pot with narrow mouth and is mostly manufactured in 
Manamadurai, a place near Madurai in Tamil Nadu.

	 Mandolin is a stringed musical instrument. It is a plucked 
stringed instrument with a pick.

	 The Pakhavaj is a barrel shaped musical instrument. It is a 
two-headed drum and percussion instrument used in the 
dhrupad style of Indian classical music.

	 93.	 Option (1) is correct.
	 Pandit Ravi Shankar, a music legend is famous for Hindustani 

classical instrumental. Ravi Shankar is an Indian composer 
and sitarist. He was the world’s best known expert of North 
Indian classical music. He was awarded with Bharat Ratna, 
the highest civilian honour of India.

	 94.	 Option (3) is correct.
	 Borra cave is a limestone cave in India. The caves are also called 

Borra Guhalu and are one of the largest caves in the country. 
They are at an elevation of 1400 m above sea level and were 
formed as a result of the flow of Gosthani River on the limestone 
deposits in the area. The caves were discovered by William King 
George of the Geological Survey of India. These are homes to 
million year’s old stalactite and stalagmite formations.

	 Undavalli Caves are the examples of Indian rock cut 
architecture. These are located in Vijayawada, Guntur district, 
Andhra Pradesh. These are centrally protected monuments of 
national importance.

	 Varaha Cave is a rock cut cave temple. The temple is situated 
at Mamallapuram, on the Coromandel Coast, Kancheepuram 
District in Tamil Nadu, India. The temple is a UNESCO world 
heritage site and the most important sculpture in the temple is 
of Lord Vishnu. Coromandel Coast is on Bay of Bengal of the 
Indian Ocean.

	 Bhimbetka Caves belong to the Paleolithic and Mesolithic 
periods. These are located in the Raisen district, Madhya 
Pradesh. Bhimbetka rock shelters are a UNESCO World 
heritage site with seven hills and over 750 rock shelters 
distributed over 10 km. These caves have a large number of 
paintings that point towards human settlement and the cultural 
evolution from hunter-gatherers to agriculture.

	 95.	 Option (2) is correct.
	 Jayaprabha Menon dancers of Mohiniyattam form of Indian 

classical dance were given the Devadasi National Award 
in 2013. She is the director of International Academy of 
Mohiniyattam, New Delhi. Mohiniyattam is mentioned in 
the ancient text of Vyavaharmala. Mohiniyattam is a classical 
solo dance form of Kerala. Mohiniyattam is dance of Mohini, 
who is considered to be an incarnation of Lord Vishnu. The 
reference of this dance form can be found in Vyavaharamala 
written in 1709 by Mazhamagalam Narayanan Namputiri. It is 
a Lasya type of dance that showcases a more graceful, gentle 
and feminine form of dancing.

	 Smitha Rajan, Sunanda Nair, and Gopika Verma are 
Mohiniyattam dancers.

	 96.	 Option (1) is correct.
	 Romancing with Life is an autobiography of Dev Anand. 

Dharamdev Pishorimal Anand was popularly known as Dev 
Anand. He was an actor, director, and producer in Hindi cinema. 
He was a part of golden trio of Raj Kapoor, Dilip Kumar, and 
him. He was honoured with Padma Bhushan and Dada Saheb 
Phalke award for his contribution to the Indian cinema.

	 The Substance and The Shadow: An Autobiography is the 
autobiography of the veteran actor, Yousuf Khan. It was 
written by Udaya Tara Nayar. His stage name was Dilip 
Kumar and he was referred to as Abhinay Samrat. He won 
the Filmfare award for the best actor for eight times, and 
was honoured with Padma Bhushan and Vibhushan. He was 
awarded India’s highest accolade in the field of cinema, the 
Dadasaheb Phalke Award. He was also awarded with Nishan-
e-Imtiaz, their highest civilian decoration of Pakistan.
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	 Autobiography of an Actor is the autobiography of Indian 
actor Sivaji Ganesan. It is a book in the form of Question and 
Answers between Sivaji and T. S. Narayanaswamy. Sivaji 
Ganesan was the stage name of Tamil actor Villupuram 
Chinnaiya Manrayar Ganesamoorthy. He is a Padma awardee 
and was honoured with Padma Shri and Padma Bhushan. 
He was honoured with Dada Saheb Phalke award for his 
contribution to the cinema.

	 Cracking the code-My journey in Bollywood is a book 
by Ayushmann Khurrana and Tahira Kashyap. Ayushman 
Khurana is an actor and singer who work in Hindi movies. He 
has won the National Award and four Filmfare awards.

	 97.	 Option (2) is correct.
	 The chemical formula of nitro methane is CH3NO2. Nitro 

methane is the simplest organic compound. It is colourless 
liquid that is used as a solvent in different industrial extractions. 
It is also used as a reaction medium and as a cleaning solvent. 
It is also used as soil fumigant, industrial antimicrobials and 
pharmaceuticals, fuel in the racing cars.

	 98.	 Option (2) is correct.
	 ‘The Road Ahead’ is the autobiography of Bill Gates. He is an 

American businessman who co-founded Microsoft along with 
Paul Allen. He is also a philanthropist and writer. He is among 
the richest people of this world.

	 Elon Musk: Tesla, SpaceX, and the Quest for a Fantastic 
Future is a biography of Elon Musk written by Ashlee Vance. 
Elon Musk is an American entrepreneur and investor. He is the 
CEO, chief engineer and founder of SpaceX, angel investor, 
CEO and product architect of Tesla, Inc., owner and CEO of 
Twitter. He is the president of Musk Foundation, which is a 
philanthropic organisation.

	 The Making of the Greatest: Jeff Bezos is a book on the life of 
Jeff Bezos. He is an American entrepreneur, investor, founder 
and former CEO of Amazon.

	 ‘Cristiano Ronaldo: The Biography’ is a book written by 
Guillem Balague. He is a Portuguese professional footballer 
who is a part of Saudi Professional League club Al Nassr and 
the Portugal national team.

	 99.	 Option (1) is correct.
	 Funaria is a type of bryophyte that lives in many environments 

and is characterised by its small, flattened leaves, root-like 
rhizoids, and peristome. It is also known as cord moss.

	 Ulothrix is non-branching green algae which is found in 
marine and fresh water.

	 Cladophora is a genus that has reticulated filamentous green 
algae. The species of this genus are difficult to distinguish 
because of similarity in their looks.

	 Ulva lactuca is commonly known as sea lettuce. It is an edible 
green alga distributed widely along the coast of oceans.

100.	Option (4) is correct.
	 Ministry of Petroleum and Natural Gas and Steel was held by 

Dharmendra Pradhan before he became Cabinet Minister of 
Education, Skill Development and Entrepreneurship in July 
2021.

	 Hardeep Singh Puri is the Union Minister of Petroleum and 
Natural Gas and Steel.

	 Anurag Thakur is the Union Minister of Information and 
Broadcasting and Sports.

	 Prahlad Singh Patel is the Union Minister of State for Food 
Processing Industries.

	 Hardeep Singh Puri is the Union Minister of Housing and 
Urban Affairs (MoHUA).
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